ol Rel Rel Re.

ol Rol Rol Re.

8mgoo 308030 1.(8mgoo 0308030 A). (0308030 1.1)
I-II Lgdqbheae. 2020-2021

(3oLgdgLh®remo godm ool 603dnda)
Question 1

@oobé’a@gm 80630608601 30583060301.5 doémoobq) oamesbb Goéamoansb o=
Select one:

a. bbanqmb dmd&omdol 33[)503@0
b. Ubgyamob Brogdothgmdal 356LsBm3Es Logezgdo @Emob BgdaliBageh 8emdgbh3o

Co bban@ﬂb 80@00@60@860[) 30[)603@0
d. bban@ﬂb 80@00@80@860[) 806[)08@36)0 Qé)mﬂb 6860[}8086 80’)886@30

Question 2

$33306)0000 oY 8(3@0(4)0:
8603030 3cndromdol LoBgatol boeacg ool 356docmols Botrdmgdneml
q)émoooo“.

Select one:
True
False
Question 3
dgnbododge d3émbgomon dmd@omdol émlb Bgéhoemol dobobosmgdgemo
Bo&omo booggoe (5:V: r) 3mobyé Loocoggdl:

U Answer 1| Choose- £
% Answer 2| Choose... -
> Answer 3| Choose... B
Question4

66960639 020603060 dmdEomdaliol 361bgol 3géomemo (T7) gbmeogos:
Select one:

a. o dégBob BgbsdBol Hmb

b o650 UtimemolB&gbab Aglododebhymorbal

C. ghoro bbmermn démBob BgbsdsBob el

dh e ellemene oo Dbotsaosnobal

Question 5


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s,v,a_\tau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a_\tau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T

o) Rol Re) Re. o] Rol Rel Re. o) Rel Rol Re.

T D

doboomo oQoéonémbob 360530301.) mosobaoq), 60088@00 LEmEo 605306@3602

Select one:

a. Ubgycons LoliygBob Bobo (ymemos 3oem3gmem Ubgamos obigdols 3530l
b. Ubgycons LolitygBob Bobs 63 3cmg805 (33970 bbgyemos Bbigdols 45384
C. bgyamoss LobihgBob 8sbs deacmos Bobigdols $8ob

d. Ubgremons boliygBols Bobs By (3oem3gncn bgyemors 8sbgdob 088

Question 6

%0803360 bO@O@S, 6@88@08 6068mo@886b bban@(’)b 0686)803@0 QO
86)030@0803@0 0')3()'.)86860[5 8(’080[’ 06)0[’:

Select one:
a. Bmbs

b. 3sbo

C. boRdotog
d. doemo

Question 7

@‘5"[’63@80’ 806806)0360: Egbobaoaéo mbo My (D) M2 dobiols bbgn@ob
3963d93m o6bgdmal dothygtroocmno gotrgdm, Loy oogl obgbl
3080@3@(‘060[} doQ)gbob 300533@360. Y 3008600@36 6063300[) 3500@350 ---

Select one:

3. gewgdeyee ggepe

b. gewgdyebadhezate ggapo

C. 3ogbotyméo ggemo

d. g@ogathopogae ggame

Question 8

dngotrgdg Lbgyemol mogobyagscmo g06bol sBgotrgdol 3b0dgbgemmds
©0d™ 300090700

Select one:

a. dongoral dobodg

b. go6Boemo Lbgemob Bsbisdg

C. 3960060l Bgerhocmaceob dongotral Bgoe306080g 896docmdy
d. cogesBoBols Bobod

Question 9


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_2

SRS S TS TS TS

O O O

ol Rol Rol Re.

6)(’038@00 boad@0360b 86)0083@0 (SI) 36003‘3@000 boa(‘)monéobm
bob@gaoao?

Select one:

a. 3060
. 3680

O

C. 300’3@0
d. 60300050

0]

. coobo
f. 9.63
Question 10

49d3oéroh0o oy 83@060: #3730mdd doemolio o gowoogaemgonl 385](')“"4’82"’[’
bO@OQSSbOb QO 38d®m&)86b BC‘)&)OB 3300[)0[5 3(’0[’063[’0[.5 6086)03@0[’ Gm@ﬂb“.

Select one:
True

False

Question 11
8003600@36 63600@0‘)0 bob(baaob (33:10603360 bob(baaob) 3636800 o600l
LobygBol (8mBodBger 2 3olybo):

Select one or more:

a. goboboemgdol o3nbgize0

b. 8cogmBotrgmdals agmbgz00

C. 3mdomdolb Gomgbmdéago Bmds
d. 3cogmBotrgmdals 8mdo

Question 12

Lbgnemol 3mpgbzonéo 9bgergos odm jocogdyemos :
Select one:

3. Ubgyermnb ScagbotgendaBy

b. Ubgermols Bembaty

C. Ubgramob boBgorgBy

d. Ubgermols oBgoésgdoBy

Question 13
38060 bbgnemoabs 80@0@060000 dmdéomdal e ml bbgnemob yggeme

636)00@0[) :


http://testing.gtu.ge/filter/tex/displaytex.php?texexp={(SI)}

H R RN R . ol Rol Rol Re. YD

ol Rel Rel Re.

Select one:
a. LoBdotrg oo oBgotrgde Lbgooolbgos

b. boﬁdot4>3 bbgocoolibgos
C. boﬁdot4>3 o oﬁdoégbo 36)005006)00
d. oﬁdo6360 Ubbgocoolbgss

Question 14

M = dL
J.-I‘.f.{_di’

38060 bbgn@ob 5636300’)0 dmd&omdals doéoooo@ 605(1)00@86\330
30633860 3506)3 83033868&5:

Select one:

a. Qémob 83@0@36015

b. 0833@bob 8m836¢ob 33@0@3&& boﬁdoégb

- 0333@&7[} 83@0@8501)
d. 0333@[}0[} Bsqm@abob boﬁdoégb

Question 15
(4)58300)0 80’)(’(4)00060[) @080&)0[)000)868@0 bO@OQSSbOO (80’)603680) 3 30[.)'3[’)0):

Select one or more:
a. 033ymbo

b. 3g60mco0

C. Lbob3otog

d. dobo

€. v33mohyd

Question 16
33d060336>o 6)3800606[}0[) dmgemgbol obmb:

Select one:

a. ébggol 3géomeo yogbos

b. ébggol v33cmohyd Heoemos byemols
C. 6bggol 533emoynces Pd306gLos

d. &bggol 533emoges yogbos

Question 17
6)0353000 3603363@00636[) aagboboagm b00930360 Qobobgwababo:

—12
10) 88660AHSWGI" 1| Choose... LI

-1
10 33@6)0 Answer 2| Choose... LI



http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{M}=\frac{d\vec{L}}{dt}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-12}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-1}

YD

a0 9 3 a0

—h

O O O

107 89800 g ncwer 3] coose- -
10° 89660 pnewer 4l ooose- -
107 89660 pneer 5| Coose- -]
1077 89860 pncwer 6 Soose- -]
107% 89800 g ncwer 71 Choose- <]
Question 18

363@5063@0 dnd&omdobol boﬁdoéob 38dd)cot4>o (bmqmo (?_" o600l éb@onb-
38d0m6)o):

SeIe_E:t one:
V=4
V= %ﬁ
V=14
Question 19

66360683 00653360 dmdEromdols @oaobobomg?):)@o boqmq;aaboo (8006036300 3
Bobﬂbo):

Select one or more:
a. 3960meoo

b. Ledyoemem LoBdog
C. 39dg0ngdd

. 3noobyo oBdotrgdo
. 3yooby®o LoBdotog

3gobo LoRdotg

o

0]

Question 20
6)0033@0 0300633@06360 5063000@336[) boyhmbol 306)33@ 3obmbl

(3mbodbgor 2 3olinbo):

Select one or more:

a.on 70 85306 @ =0

b. oy F = 0, 85306 @ 7 0
c.m3F=U,aoaos a=10

d. oy F =0, 85306 V = const

Question 21


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-3}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-9}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-6}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{r}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{V}=\frac{dr}{dt}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec {V}=\frac{d \vec {r}}{dt}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec {V}=\frac{dt}{dr}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V=\frac{d\vec{r}}{dt}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}\ne0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{a}=0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}=0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{a}\ne0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}=0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{a}=0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}=0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{V}=const

ol Rel) Rol Re. 0D

ol el Rol Re

IndEomdol gobhmemgds godmobobgds amednmoon ( P 560l 033nembo, M
dobo):

Select

(@)
I o

n

a.
b.

SRAl R A

Cn

d.

> TS T TR T
|

_ o dP

Question 22
3008833@0 0300633@850@06, 6)(‘088@0 80800[)0503[) 8[50003@000

80%0@3@(’)60[} 3\)6(’06[.’ (G Oé)Ob 86)030608(73@0 83@8030, _ﬂr{' QSQOSOGOL’
dob):

Sel%ct on{(ja_; o
a.w ~ “R?
o F =Gy
c. F= GmE_L
o F = Gl
Question 23

F doemobs 3086 g 80@00@&0@36083 33[}63@82‘)3@0 33300’)50 808000003@350
0300683@00‘):

Select one:

a. A= %

b. A= F¢

o dA = (F-d3J)
d. A=F - -dv
Question 24

30036)00@36)0 636)@0@0[) 0331embol 3dgbhyol

godmbomgemgem ogmédyemodo L= [?1 . h], dgnbododgen 30803196 Looocoggdl

Qobobgngabo :

K Answer 1) ooose-

7

7 Choose...
Answer 2| 00se

L Answer 31 Coose-
Question 25

Lo Lo Lo


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec P
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F=\frac{dt}{dP}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F=\frac{dm}{dt}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F=\frac{d\vec P}{dt}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F=m\frac{dP}{dt}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=G
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F=G\frac{M}{R^2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F=G\frac{R^2}{M}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F=G\frac{R^2}{mM}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F=G\frac{Mm}{R^2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{s}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=\frac{F}{s}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{A}={F}\vec{v}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA=(\vec{F}\cdot d\vec{s})
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A={F}\cdot{dv}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec L=\left [\vec r\cdot\vec K\right ]
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec K
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec r
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec L

YYD A IR RN RN YD

o) Rol Rel Reo.

83d°6°33“4’° Ssgéaoob 83@3030060[) (386053ob) 3050050 3m3033@0o
80300[)053@36000 (?-‘ 60l bban@ob boﬁdoég, h - lm&)q)@{)):

Select one: ,
5. Mh + %5~ = const
b, Mmgh 4+ %5° = const
2
mus
c. mgh + *5- = const

d. mgh + gv = const

Question 26
880(4)0 bban@ob 80@0@0600)0 8006600')?)0[5 doémooo@o 60660’)@860 bbgn@ob

doboos () BSGO&)QB 30306 80’)3883@00 aoambobuwgbgbom (3006036300 2
3obﬂbo):

Select one or more:

a F= mff:::r
b. F= mg
€. -'-ﬁ - mar
d. F = m#,
e. J-'T*:: - Fr
Question 27

65330[} BSFmOOQO T hoemod:

Select one:
a. I =2,
b T = 2'1'1"..-:}.[].
o T=i
0. T=4
Question 28

3™blgégodmemo Lobggdoborgol dgdobo3yéo 6980boblol dmgemgboli scgocmo
593, Gm(3o gty 3geomyemo doemol Lobdoég:

Select one:

). B e g belaaib sgee @ Gbapeb b EhEes

b. ndenccogds bobgBel bsgematho Gbggols bobBntsgl

C. B 3crog500 bolighgBalb bogenotn Gbggels babdathgBy

d. 3900 bobggBob bogemstho Gbggebs LiobBotgdy

Question 29


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=h
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mh+\frac{mv^2}{2}=const
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mgh+\frac{mv}{2}=const
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mgh+\frac{mv^2}{2}=const
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mgh+gv=const
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F=m\frac{d^2\vec r_c}{dt^2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F=m\frac{d\vec r_c}{dt}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F=m\vec a_c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F= m\vec v_c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F= \vec v_c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T=\frac{\omega_0}{2\pi}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T=2\pi\omega_0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T=\frac{2\pi}{\omega_0}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T=\frac{\omega_0}2

8063@0@0 806doq>o, 0)‘3 bbSUQ)O 80’)(’6)0(’06@0 '3[.)0630[)00 bOﬁdOé’Om t=

12 63-0b gobdogemmdode oo 8obo shdotrgds a = 23/63 (ggemdo Bobgérgon
ame)mQ 603530, 3801.)8@0 bo%nbd)ocn, 8°8'1'23)

Answer:|

Question 30

6ol ol Lbgyemdg 3mddgn 1déomoal bobybol doems, oy dobo dobo
M=59533-b, bobybol 3mgazozegbdo H=0.1, g=108/63. (39cmdo RsBgérgen
dbmemmee Eosbgo 39olgool Lodybdoeo, dog:1.23 )

Answer:|

Question 31

03mgqom mM=1033. 35Lob Lbgyemol 30bghozy60 gbgégoal 33emacmgds, ooy
dolo bo?)doég 10 3/63-co0b 253/63-3c0g aoo&bé@o. ( 39em3o 506'86)800
dbmemme Gosbgo, dog: 1.23 ).

Answer:|

Question 32

03m390 Lbgnemdg dmgdgon doems, oy 3olidg 8mddgcon doemals 3mdgbe
M=126.3., boemm doemob dboéo 1=63. ( ggemdo Bobgtrgen dbmemmme &o(sbgo
dgolgeool Lodnbhoo. dog: 1.23 )

Answer:|

Question 33
03mgqgo 3omgdohnznén Jobdotol Logédyg, oy dobo Gbggol 3g6omeons 1.8 63.

> g =10 3/63 ( ggemdo BoBgerge Bbmemmeo Gobgo 1.234 . 3g00moligonls
LoByLdoo ).

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp={\mu}

